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The characteristic feature of Ectocarpus 1s

I  Green. filamentous algae with simple branches

.  Cells contain chlorophil a. d. carotenoids and xanthophylls
M. Life cycle is haplodiplontic

IV. Zoospores are pyriform with two flagella attached laterally
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Choose the correct group of organisms based on their cell wall materials respectively-
Cellulose. Peptidoglycaon. Algin. Mycolic acid and Pseudomurein.
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Study the following statements

1.  Branched chain of proteins are present in membranes of Archebacteria
1.  Histones are absent in Noctfiluca chromosomes

1. Asexual spores of diatoms are Auxospores

. In Nostoc chromatin 1s present in centroplasm
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Identify correct answer with reference to life cycle of Algae given above
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It is haplo-diplontic life cycle of Laminaria
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Fruits with Papery mesocarp. Cartilagenous endocarp and undifferentiated endocarp are
respectively
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Citrus. Apple. Guava
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Centripetal. Aacropetal and irregular arrangement of sessile flowers are seen in the
mflerescences of these plants respectively
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Carrot, Colacasia and Euphorbia
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The steps to be practiced for artificial hybrization in two female parents having unisexual
and bisexual flowers
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Bagging. Debagging. Emasculation Emasculation. Bagging. Pollination

erfioff, Sowhed® &bh 8HvL, DHovSdn DHosse, erioff, HorriHond), o
L



Bagging. Emasculation. Pollination Bagging. Rebagging. Pollination
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Find the mcorrect statements

A) Lower plants shift to sexual method of reproduction just before the onset of adverse
conditions takes place

B) InSouth India. hilly areas transform into blue stretches by the flowering of Agave and
Bamboo

C) Single cell Zygote 1s the vital link that ensures continuty of the species from one
generation to the next

D) InAngiosperms pollen grains are shed at 3-celled stage
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Identify the correct sequence of events that occuar during development of Embryosac

a) Reduction division b) Embryosac
¢) Nucellus d) Linear tetrad
e) Megaspore mother cell f)  Functional Megaspore

g)  Mitotic divisions
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Mention the ploidy of parthenogenetic embrvo. parthenocarpic fruit and apomictic seeds
n series
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Find the correct floral from the given floral description

Bracteate. ebracteolate. pentamerous. bisexual, actinomorphic; sepals 5. polysepalous.
imbricate aestivation; petals 5. gamopetalous, twisted aestivation, stamens 5, epipetalous:
pentacarpellary syncarpus. superior ovary with axile placentation,
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Match the following
List-1
A) Interphase

List-1I
1) Synapsed homologous
Chromosomes

B) Meiosis
() Bivalant

11) Crossing over
i11) Single cycle of DNA
Replication

D) Recombinase 1v) Between two M-phases
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I) Two sequential cycles

II) Exchange of genetic material

II) 95% of cell cycle
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IV) Zygotene
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Choose the correct statement

A) Mesosomes are exterior extensions of plasma membrane outside the cell
B) In prokaryotic cells filamentous extensions of cell walls are called flagella
C) The membrane of erythrocyte has nearly 70% protein and 20% lipds

D) The Mitochondria. Chloroplast and peroxisomes are not co-ordinated with
endomembrane system
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Choose the correct statements

I) Inulinisa polymer of glucose

) Cellulose does not contain complex helices

II) Starch is a polymer with helical secondary structure

IV) Store house of energy in animal tissue is glycogen
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Arrange the following four levels of protein structures - Primary. Secondary. Tertiary and
quaternary in a correct match

I  Primary structure First terminal — C
Last terminal — N 1 Polypeptide
II.  Secondary structure  Right handed 1 Polypeptide
Helic polypeptide

M. Tertiary structure Long chain folded like a ball 2 Polypeptides

IV. Quatenary structure  Protein subunits present More than one

Polypeptides
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Functions not associated with peroxysomes

1.  Convertion of stored lipids to carbohydrates
ii.  Catabolism of fatty acids

1.  Involve in photophosphorylation

iv.  Production of Hydrogen peroxide

v.  Synthesis of phospholipids
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Choose the functions of Cytoskeleton

V.

Formation of cell plate during cell division
Mechanical support

Cell motility

Intercellular transport
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Assertion (A) : Grasses get regenerated even after grazed by herbivores

Reason (R): In grasses meristems are present in between mature tissues.
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(A) and (R) are true and (R) 1s the correct explanation of (A).
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(A) and (R) are true but (R) 1s not the correct explanation of (A).
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(A) 1s true. but (R) 1s false.
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Identify c. d
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Options:
Sieve pore. Phloem Parenchyma
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Sieve pore, Sieve tube
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Assertion (A) : The stability of coupled system formed by climate and natural ecosystems
1s an important ecosystem services

Reason(R):  Natural ecosystems prevent overheating of the earth by removing more of
the green house gases from atimosphere
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(A) 1s true, but (R) 1s false
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(A) 1s false. but (R) is true
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Find the correct answer
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Water movement is against concentration gradient in Imbibition
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Addition of solute particles to a solution enhances water potential
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Rate of osmosis depends on both the pressure gradient and concentration gradient
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Pressure potential 1s negative in sieve tubes
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Select the correct answer
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Options:
Absorbed Nitrogen 1s accumulated by the plants in the form of Ammonium ions
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In free living conditions nitrogenase 1s not operational in Rhozobium
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Amino group of Aspertic acid 1s replaced by hydroxyl group to form asparagine
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Number of H,CO; molecules released in the above reaction in the Absence and presence
of Carbonic anhydrase enzyme respectively
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2000 / hr and 6.00.000 / hr
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200 /s and 60.000 /s
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200 / hr and 6.00.000/ s
200 / Bon H38050 6.00.000 / 2850
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Functions of lamellae of grana and stroma lamellae of chloroplast during photo
phosphorylation
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Options:
Bothrelease NADPH, and ATP
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Former splits water. later produce ATP

; F0EEE A8 DEETR) W, Bodss ATP &&\& Dasnd

Both splits water and release ATP
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Question Number : 25 Question Id : 4557344825 Question Type: MCQ Display Question Number : Yes Single Line Question
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The ratio of NADP. H,O and electrons required to evolve 40, molecules through
photophosphorylation are
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Number of compounds with C, and C,4 intermediate substances appear in TCA cycle. when
one glucose molecule oxidized through respiration
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In 138 hours of time. two leaves A and B with 5 cm? and 50 cm? of size show absolute

increase to 10 cm?” and 55 em? respectively. Then the leaf which shows highest relative
growth rate 1s

138 Hodier 5’3-5.;3@@"5 5 cm? $5380%50 50 ecm? H985rm0 Ko A SH8osn B aEeen 10 cm?
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Options:

only A

A 5833

only B
B S8

Both A & B do not show difference in relative growth rate
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Both A & B do not show difference in absolute growth
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Question Number : 28 Question Id : 4557344828 Question Type: MCQ Display Question Number : Yes Single Line Question
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Functions not induced by Cytokinins

1.  Production of leaves ii.  Production of chloroplasts
1. Nutrient mobilisation iv. Leaf senescence
v.  Xylem differentiation vi. Synthesis of Carotenoids
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Identify incorrect statements

1. Chlorobium cannot utilize radiant energy

1.  Nifrosomonas derives energy from sunlight

1.  Rhodospirilium derives carbon from carbondioxide

v.  Bdellovibrio bacteriovorus grows as a parasite on some harmful viruses
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HIV belongs to the Genus

HIV & ge=88 3otk
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Hunmivirus
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Lentivirus
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Lolavirus
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Identify incorrect statement with reference to hybridisation experiment in Lentil
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Options:
Genotypic ratio of F, generation 1s identical to that of the ratio of Mendel monoliybrid
Cross
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Law of dominance is not applicable to F; generation
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Both alleles are expressed independently in F; hybrids
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The character of RNA is

RNA % Ho0fotdsd @8m0

Options:
Mutate at faster rate
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Non catalytic
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Thymine is present at the place of uracil
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RNA is chemically less reactive and structurally more stable when compared to DNA
RNA & DNA & &5, Sarohdgom $858 Sorgd forr, Aomeard Somr «hg
0l §O0 0o

Question Number : 33 Question Id : 4557344833 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Role of E.coli in replication of DNA 1s

1.  Semiconservative replication was proved first
1.  Polymerises approximately 2000 bp per second
1.  Replication time is 38 minutes

iv. Lengthof DNA is 6.6 » 109 bp

DNA $888e5° .53 i

1. @gﬁoégé DEENE D700 G eders) wohHedss
i,  HomH DESHE 2000 bp @5 HodEdno Dok
. (HEHE SHodHo 38 ddnaren

iv. 'DNA &% 6.6 x 10° bpens

The correct answer 1s
HOGIS DITTHEBED

Options:



1. 11, 111, 1V

—_

11, 111, 1V

L-2

L iv

Lid

4 i i, i

Question Number : 34 Question Id : 4557344834 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the incorrect statement

00570 Darprddnd Hbodidn

Options:
Factory of protein synthesis is ribosome

1838 HogRcesH wSBIDG esormdo Bl Ha

Cell contain 64 types of tRNAs
Score 64 s tRNA oy 888 &Godron

Because. of nucleotide 2'-OH group RNA is easily degradable
RNA Hoodgomr Ehddgdo Hodiras 52000, @odhe’d @6 Srgdrdas” &k
2'-OH Janoedinn

Deoxyribonucleoside triphosphates provide energy for DNA polymerisation

S ErEmr b @éﬂ"’@q‘)ﬁm DHoREGes wSHEHS ¥80 ogfgo Diron

Question Number : 35 Question Id : 4557344835 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Key tools of -DNA technology are
I.  Molecular scissors

I P32

. Gene gun

IV. Bioreactor

DEdodras DNA rosés DEES B0V PTHPN FIT 0

L =wEaden
o PBR322
. £o 82

IV. 2@rdosrss
Options:
LTI

LN

]

s LI

, ILII

Question Number : 36 Question Id : 4557344836 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Genetically transformed host cells can be selected by

1.  Antibiotic resistant genes

1.  Radioactive ds DNA having complementarity to the whole length of desired DNA
i1,  Coding sequence of J-galactosidase

. Radioactive ss DNA having complementarity to at least one part of desired DNA
v Radioactive ds RNA having complementarity to the whole length of desire DNA

25500584 ©8&Fon Swrod Sdwo BoEHd

1. wodioirtd§ AGEES €95 aloghen

i. Srogbod DNA Swdo 2da dodrdsorn 6o f&@cﬂ}‘?mﬂés ds DNA
i, B-rofHas SosdEsisn

.  orouios DNA %0 &8 grmdSa dodrdsormr &od éioﬁrm-ﬂés ss DNA
V. arogdosdy DNA Sndo rddar Dodrddom &od 6@@?@%}5 ds RNA

Options:



1,11,V

—_

1, 11, V

-2

i, 11,111, V

b

i, i, 1V

I

Question Number : 37 Question Id : 4557344837 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

RNA mterference (RNA1) 1s a mechanism that

RNA .‘ég&éd@ﬂ (RNA1) dHrioes®
Options:
Prevents translation of specific mRNA

233 mMRNA efhardo Q6 Hodeds

Prevents transcription of mRNA

. MBRNA 9585550 5 6ok

Prevents replication of DNA
DNA &8y8 Q5 fodadd

S1 RNA produced by ds RNA. cuts DNA into pieces
ds RNA & &8 SoHaas SiRNA, DNA & podsrenm §8§00:5H6)

Question Number : 38 Question Id : 4557344838 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Excellent biocontrol agents to treat ecologically sensitive areas

DoNEHH wSdn HOF D84S FiS £5DohoEn DiFsdhen
Options:
Nucleopolvhedrovirus

—_

Srg8drdd T E IR
b ol



Trichoderma

EE’G“'G‘-‘;

Bacillus thuringiensis

e 000#0Dd)0

Azospirillum

@8 B

Question Number : 39 Question Id : 4557344839 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Microbes not used in house hold products
L Trichoderma polvsporum

L. Rhizobium

M. Closteridium butviicum

X

IV.  Propionibacterium shrmanii

HyrFH80n Sdyded” IVDriodd drgEden

Lo ¥

Fod

)

=E° 1 A
L iizlep) Evil ity

e

IL Ea&“‘iﬁa‘i}o
11 g@ﬁclﬁa} engesdEo

IV. (@Hdrder§boho 36503

Options:
1 LIV

I.ILIT

]

Question Number : 40 Question Id : 4557344840 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Biofortified vegetable crops released by IARI

L Vitamin ‘A’ enriched bathua and Tomato

II. Vitamin ‘C’ enriched Carrot and Spinach

M. Iron and Calcium enriched Spinach and bathua
IV. Protein enriched French bean and garden peas

IARI @ S¢ode Baseds ADTFIHE Srdmad Dobien

I LMY A Dam &) D, 5THr”
I 260 ‘CHAT &5 s0ien, T
M. 9080, 570050 Dum €l ?Jnjmi 236808)
IV. @83 DR &) RodhY, FO edrd
Options:
| ILIV
7, LIH
3 ILIV
4 .11
Zoology
Number of Questions; 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 4557344841 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Assertion (A) : Specific endangered species are protected in sanctuaries

Reason (R):  Protection of amimals in their natural habitats is called in-situ conservation
Qgydo (A): wodBoNTFEIN) W0 2od) o dodfod |roaren Saglered
@E‘j@ﬁ?tﬁ?ﬂ"ﬁﬂj

sdm0 (R) : 2odhIod o8 e sarares” Sodfodm) Sire il Sodgn wotrd



Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)

| (8) 50050 (R) 0 Todr $0@350 500050 (R) 35 (A) S H0@S D36

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
{ﬂx) 8050 (R) o0 Bodr $860:50 50 (R) @38 (A) § 585008 D58 5=

(A) 1s correct but (R) is not correct

(A) 38358 50 (R) 38558 525

(A) 1s not correct but (R) 1s correct

, (D) 20@50 56 50 (R) 50050

Question Number : 42 Question Id : 4557344842 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements regarding tissues

A) Basophils constitute least percentage of total granulocytes
B) Muscles attached to hair-follicle in skin are striated muscles
C) Os cordis 1s an endochondral bone

D) Mucous connective tissue is present in umbilical cord

Sooereroi) Donofon) & |Sofh moFTe 5o:imo modod

A) TG 3ndgo Edsey Scred” w8 S5 5 TFoest wolron
B) 6108 §Hridisos was &0okd 0D Sodoren

C) &9 500 af JoFs oS JS5n08

D) 34

Choose the incorrect statements from above

k) T5e5° HbsA woTed h8odod

Options:
| A&C

, C&D

;B&C



, B&D

Question Number : 43 Question Id : 4557344843 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Echinoderms show pentamerous radial symmetry
Reason (R):  Animals with radial symmetry respond equally to stimuli that arrive from
all directions

a3ygo (A): F8TE6) 0 HodDEG HJ0 wWri)erow
s*deao (R) : Seaf RS0 Ern 2Jen vl) G Hrod STy DEROE HENBI0M
Options:

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
| (A) 08as» (R) 20 Bodr H8530:50 Hbasn (R) =36 (A) £ 5050 IS0

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) 558050 (R) o0 Sodr 56550 500 (R) @38 (A) § H60308 D58 5=

(A) 1s correct but (R) is not correct
(A) 5033058 570 (R) H00058 5%
3. a . a
(A) 1s not correct but (R) 1s correct

(A) 58358 565 5 (R) 58558
4

Question Number : 44 Question Id : 4557344844 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Study the following statements

A) Cloacal respiration and two jawed pedicellariae are characteristic to sea cucumbers
B) Epidermal cells of Dirgesia have rhabdites

C) Colloblasts help in food capture in Plewrobrachia

D) Maxillae are modified into gnathochilarium in Scolopendia

8ob woTod eggaiso Dosiodk

A) wI[C FT(HE0R, Both S3de Tﬂ@hﬁﬂﬁﬁmm HHNE &Hsohe PorS efseren
B) dridalr Birsudgod® orgonien rodron

C) &roleréoirs” §dergen siford) HRFIFTIS GHDridEeon

D) &) Do@s” zodsen Sraroddo Bob IETBB0H0D IGO0

Choose the correct statements from above
2 S HBES wored HBodod

Options:
| A&B

B&C

k-2

;B&D

L A&C

Question Number : 45 Question Id : 4557344845 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Match the following

Animal Character
Single shell plate
Two pairs of ctenidia

A) Neomania
B) Dentalium
C) Neopilina
D) Nautilus

Cuticle with spicules
Captacula
V) Crystaline style

B e=

808 80 adHGihdn

200 382200
A)  d@BrdHdatr ) 2f Eard 868 delo
B) @oérdobo II) Do =nde Losgromen
C) Adrs8a I Sodysrend) wlerad
D) oéfei IV) sgoger

V) EJJESS Soddo

The correct answer 1s
HBIES DT BB

Options:
A B C D

O W g W

A
M & N 1

2

A B ¢ D
+1I I W ¥

A B C D
, MM N I I

Question Number : 46 Question Id : 4557344846 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Study the following and choose the correct combinations

S.No. Group Character Example
I Tunicata Biolumiscense Pyrosoma
I Osteichthys Pelvic fins with claspers Echeneis
i Mamimnalia Six cervical vertebrae Bradypus
Y Caecilians Amphicoelous vetebrae Ichthvophis
Bob o830 edgatso B0 995 DEDoPods Hiotod
2J.20. 2RI ET0 80 L dniropletan]
I AV v 255068 DE ST
T -_—:?l.gﬁ éo;ﬁd&,éuﬂ?m;ﬁw WL
15758 areren
1| §8mren ety |ABEIG05 en (@3
IV H5HO0HSen &70%K8 EddosTen 2§BrHD
Options:
 LII
» ILIIT
; OLIV
LIV

Question Number : 47 Question Id : 4557344847 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Which of the following characters are found in Ratitae
I) Maleswith penis

M) Sternum with keel

II) Absence of clavicle

IV) Presence of syrynx

V) Discontinuous distribution

o8 SPee” 0B oFaren
) 0 SHed JEso

M ESoind 6%

) =hsen SHoddo

IV) #0239 $9A &odbo

V) 208 D88
i

Options:
1. LIEIY

LIMV

]

; LILV

, OLIV.V

Question Number : 48 Question | d : 4557344848 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Match the following

List-1 List-1I
Amimal No. of fagellae
A)  Giardia I) Many
B) TIrnvpanosoma o) 3 pairs
C) Tiichomonas II) 4 pairs
D) TIrichonvmpha IV) Four
V) Single
§o& 80 2EBTTHD0
erde - 1 wZFfe - 11
2306303) EFeTe) & omg
A)  zcirfoir I) w3850
B) (é355%ara0 ) 3 edben
C) EE*&%TE ) 4 eden
D) E&_ﬁﬁ‘ﬂoéﬂ IV) orenth
V) &8

The correct answer 1s
DBGIIS DATTIBN

Options:
A B C D
N B ¥ 1

D

=
t
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=
ve
®
w

Question Number : 49 Question Id : 4557344849 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Study the following statements regarding drugs

A) Benzodiazepines are used as painkillers

B) Smack slows down the body functions

C) The opioid drug obtained from poppy plant affects cardiovascular system

D) Crack interferes with transport of dopamine

SrOSGSarged Boby §0h BoTOD BEESK0 D00

A) @oFdoirzpod rgrlardsner JAEFATE

-

-
o] —

P

B) e F6 SEgoi I0)6HH008
C) Sodod 3ng) Sod 2EB0ND L9Ho3rE Hod sTS0d [BSGe égéﬁ”’g‘;’g DETPR0
Bradood

D) 5 &9 dareres” 850 BdoFotnod

Choose the incorrect statements from above

D atie” H05R) worer Hfodod

Options:
1. AD

B.C

[

3 AC

4. B.D

Question Number : 50 Question Id : 4557344850 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Match the following
List-1 List-1I

A) Neoplasia

B) Hypemplasia

Increase in number of cells
Degeneration of gonads of host

C) Hypertrophy Increase in the size of the host

S 88

D) Parasitic castration Formation of a new structure in host tissue

V) Abnormal increase in volume of host cell

Bof o83 eddtthdn

da -1 erde - 11
A) A@rToosr D dore Sopg dHbdGom did0
B) GrabSorbose ) e&gon HzSee §od
C) TrddEss ) es&on HBSrFm0 DKo
D) Hoo5)dS s(Ras IV) es&30n Swered” §d dovaren d8ydio

V) =&0on oo H8Srmo HH68Som o

The correct answer 1s
D80S DArTrSan

Options:
A B € D
W R I W

A B € B
m v V I

L2

A B € B

i
to
0
)

Question Number : 51 Question Id : 4557344851 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Assertion (A): Ring worm is a fungal disease
Reason (R):  The mode of infection 1s by inoculation

DFEo (A): 58 &8 300 gk
s*de00 (R) : & g0 THEBAS Ho HoEDnob

Options:
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(A) 5805 (R) o0 Bodr 85D 5005 (R) 938 (A) & 5@ D560

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) 50805 (R) e Bodr 586052 50 (R) @386 (A) § H8508 HS8 s7¢h

(A) 1s correct but (R) is not correct

(A) 383058 50 (R) 580088 5765

(A) 1s not correct but (R) is correct

(A) 5858 55 5 (R) H0F058

Question Number : 52 Question Id : 4557344852 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The following are types of parasites
I) Infracellular

) Coelozoic

II) Intercellular

IV) Hyperparasite

& foha HoUY) Bho I5Ten
I) §eorody Hod) Shen
) &&d Ho08) £hen
) Sworodd Hoey) B)ew

IV) @030°) @9

Which of the above are correct regarding Nosema notabilis?

P o365t THEr SHFHO5 D dserdy BoSins?



Options:
, BT

LIV

-2

3. ILIII

, LIV

Question Number : 53 Question Id : 4557344853 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The sense organs present on proximal parts of tibia in Cockroach are sensitive to
F°908 sren g BHCITH o8 pTromren I HBron

Options:
Sound vibrations

k-2
X,
L
P
L

Movement of tlagellae of antennae

K}Jdﬁgorﬁﬂ gaverey 0568

Ground vibrations
4 BT Soaden

Question Number : 54 Question Id : 4557344854 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The following are the ganglia of autonomous nervous system of Cockroach
I)  Proventricular ganglion

II) Frontal ganglion

D) Ingluvial ganglion

IV) Occipital ganglion

B°508 Hr0S0T B ah NG &0d a6 Docen §od BB
D rd ohondds o 508

Il ocls a6 H0b

o) =xoHrdcHS T8 Hob

IV) ef8dro o6 Hob

Arrange them in sequence from anterior part

DE38 00 errio ook 60D EHoe® wdodod

Options:

 ILLILIV

IV.ILILI

L2

ILILIVI

4 ILIV.IIL I

Question Number : 55 Question Id : 4557344855 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Algal blooms are formed i fresh water bodies
Reason (R):  Eutrophication

O3yEo (A): 3o Soatien $0HB serdoire’ ddyEaon
s*da0 (R) : oS0 drHEAa

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)

| (A) 8050 (R) ) Bodr 005 58050 (R) 038 (A) S 9005 D56



Both (A) and (R) are correct but (R) is not the correct explanation of (A)
, (A)S:805n (R) @0 Bodr H0G0SD 520 (R) 235 (A) 8 3858 D562 526

(A) 1s correct but (R) 1s not correct

(A) 565056 5°9 (R) HOG0H6 5960
3

(A) 1s not correct but (R) is correct

, () 908058 5 0 (R) 50558

Question Number : 56 Question Id : 4557344856 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements
I)  Montreal protocol is aimed at the safe disposal of radio active wastes
II) The association of honey bee and orchid flower 1s commensalism

II) At high altitude the red blood cell production increases in man to compensate low
oxygen availability
IV) The pyramid of biomass in sea 1s inverted

§od women w@iohiso Bobhod

) BaDreds Sgore 088 FODE Srogichd (S sS ©Fgo

I 8344, 8 & Do ooy wodd Sonodo DHireTagdo

o) Jgons Hoee” 685 wfzud oifgd SrSHAS” PGS Sore dopg ifdo S
210 wHsoh

IV) ariidoe 0 £5355078 HENE dobothen &otood

Correct statements among the above are

2 ad3e5® B[ ﬁ;’ﬂ WOFTEN

Options:
l. LI

OLIV

]

I1. 1T

g LIV



Question Number : 57 Question Id : 4557344857 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following

Amimal Adaptation
A) Seals I)  Salt elimination by nasal secretions
B) Seagulls II) Metabolic water
C) Kangaroo Rat II) Blubber
D) Turtles IV) Glomerular Kidney
V)  Salt elimination by tears

1808 T80 2eH8ddn

206505 2050 5P e 50
A) %t?} ) o0 oo TR0 oS JIDGS
B) & &9 o) #5805 08
C) Somdy Jens ) gzend
D) a2y IV) dgsdoes oy SorE@HodHn

V) s oor edo DHPHS

The correct answer 1s
HOGS BETTHED
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Question Number : 58 Question Id : 4557344858 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Which of the following factors tavour taster decomposition of detritus?
% 808 @ s°0ste $o BELD DG Eos Bén aforr 0oinod?

Options:
Lignin and moist environment

OMD, Bdom &) H8dTe

Nitrogen and anaerobic environment

Sgied, waorddn H8doren

Nitrogen and sugars

e, ﬁ@grde;o

Chitin and Lignin

880, e
4 < =L

Question Number : 59 Question Id : 4557344859 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following model of Nitrogen cycle

Atmospheric N,
@, 1@
Nifrates
©T +®

Decaying biomass

Identify the concerned bacterium in step @

€ §08 P20 Hooho STy wiigdiNo A fow blela)

5

FaEASmdneta N

@] T®
oT 16

Bodyhor)) &S (P53

53 (d) % $020508S 0005 HYoEIBM



Options:
Nitrosomonas

JETFIrT 0

Nitrobacter

STergEs

L2

Nitrosococciis

ST EES

Thiobacillus
s FOrerae

Question Number : 60 Question Id : 4557344860 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following and choose parts related to larynx
A) Rimaglottidis

B) Twbinals

C) Cartilages of Santrim

D) Adam’sapple

E) Softpalate

§0d o8 B0l Tobd grmredy HBobod
A) BITTBAS

B) &858

C) #0588 Soyciaeridyen

D) edoy) sod

E) &S5 =ofd

Options:

| A,C.D

B.D.E

[

; A.C.E



. AB.D

Question Number : 61 Question Id : 4557344861 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following respiratory volumes (/) [Based on maximum values]
I) Inspiratory reserve volume

) Tidalvolume

II) Inspiratory capacity

IV) Residual volume

V) Expiratory reserve volume
8o 2icedS a0 DSHbSraaren (M) egadiso Bohod [K0H 8L000 Denden Clnlelolanl

ﬁm‘;ﬁg;’: NS DaHdaFrmo
BES J@Tgﬁ}

- H’ = L
TR ranggo

BRI DSHdSrmo

s2HS8S®

E{Jra‘ls{‘fj Y alandaTseo

Arrange them in correct sequence in decreasing order
D58 BB BB T ESos” wddod

Options:

, VILILLV

, LLILIV.V

LILIV.V.II
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ILLIV.V.I

I

Question Number : 62 Question Id : 4557344862 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Identify the part labelled as D in the above diagram of T.S. of human alimentary canal.

DS 2dadS Srod eFftdad wf)FE Hhod D Srdodeds ermrd) Hiodod

Options:
Mucosa

E&é{aﬂﬁo

Serosa

565 H60

L2

Sub mucosa

eEy3do

Muscularis mucosa

godddo

Question Number : 63 Question Id : 45657344863 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Study the following statements regarding circulation

A)
B)
0)
D)

Atherosclerosis is a congestive heart failure
The walls of lvmph vessels contain smooth muscles
Ligamentum arteriosum connects systemic and carotid arches

Activation of proconvertin results in the formation of prothrombin activator

©BHdes B0BS & Eoh woTOH WHFOIH0 Dodod

A)
B)
0)
D)

Jﬁnﬁi%&ﬁif&ﬁ wRH §5:68garycias BHego
FA0H airEe éaciém} ey Sodoredn §9A sodnod
Ofodro eshHBd@rao FrE ), 560 THod EendHod

85008 &BREH |@Et0dd eBRL0D AHH08

—_

Choose the cormrect statements from the above
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3657 HBGDS mozren HBotod

Options:
1. B.C

L2

5 L B
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i BT

Question Number : 64 Question Id : 4557344864 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Assertion (A) : Uric acid is produced in mammals by purine metabolism

Reason(R):  Uricase converts uric acid into allantoin in human beings
A3yBo (A): §zen Frg0e 2580506 ohrdf edrd) wd)d daron
s*do (R) : SrHPVS” 0rf8E JoBA 0hrdS edrd) ©0otrondmT SrdH8ed

Options:
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

| (A) $:005% (R) o3 Bodr $8gH5D 56080 (R) ©36 (A) & 5538 D560



Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) So808» (R) e Bodr 580053 50 (R) @38 (A) § 56508 D550 57

(A) 1s correct but (R) 1s not correct

, () 50988 50 (R) 90@H88 565>

(A) 1s not correct but (R) is correct

(A) H850856 5 50 (R) H833056

Question Number : 65 Question Id : 4557344865 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the incorrect combinations regarding urine formation

Part of Nephron Selective reabsorption Secretion
A) | Distal convoluted mbule Facultative reabsorption H". K and NHj
of Na*and H,O
B) | Descending limb of Impermeable to
loop of Henle H,O by passive transport electrolytes
C) | Proximal convoluted tubule | H™ and K™ 1ons H™ and urea
D) | Collecting duct K" and H,O Ammonia and HCO

Srdo G Drsos BobS §od woTeT 058 T80 HBodod

)8 BT grifain el 1 It Te) Risle
A) | Sroyl Doddd 598 Na™. H,0 389\8 D@8 | H. K and NH}
B) EF@%‘%@ w55 T98 H,0 iy, 03 Sareae Qd}g-ﬁi{ﬁﬁﬁ*—mﬁ;
wardiange
C) | D505 H0d98 o858 H™, K™ o030 HY, o%r8aoir
D) | Hofsra a¢o K".H,0 aIrRosr SHdosw
HCO,
Options:
 A&C
C&D
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;B&C
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Question Number : 66 Question Id : 4557344866 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following is incorrect combination?

& 1808 et B850 HFDoHS KrBoSod.

Options:
Scapula-Triangular

BODnoS0-|Behars g

Sphenoid bone-keystone bone

Ssbosio-Ee é?@%’a s

Hyoid bone - ‘U’ shaped
5°088 Q508 - ‘U es*ddwn

Sacrum-Cup shaped bone

880 - AQ) w5570y SD0E

Question Number : 67 Question Id : 4557344867 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A

Identify the part labelled as B in the above diagram of thin filament of a myotibril

D5 ADES §odd HrEdodHd) HE0S® B Srdodd grmd) Hiodod

a_

Options:
Tropomyosin

| BT FHDTrR



Troponm

DR

L-2

Actin
oy § o

Myosin

Sodrno

Question Number : 68 Question Id : 4557344868 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements

I) Somatotropin and somatostatin are released from hypothalamus and are antagonistic
to each other

II) Cushing’s syndrome is characterised by glucosuria and formation of ketone bodies
II) Parathyroid hormone is a protein
IV) Catecholamines and cortisol stimulate gluconeogenesis

Bobd mozen wisafdo Bodod

) &Srdsitrha, -?355?&3’5@3&35@} _;_.'i-—véijﬁﬂ—véjfﬂﬁ Roowad wErdEEd S_‘J{i)cqjﬁ éﬁgeré-j
LI ) 000

) #p§Hrdosr, 84°5 Bifen Ayibo Shofi Do Snpgegaren

M) Sodocond 365 o8 &S

IV) s8fodd, sdard Arfaaraduns (@oaamon

Correct statements are
» a45e5* D80 woFe

Options:
l. L III

LIV

k-2

s 1

LIV



Question Number : 69 Question Id : 4557344869 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following

List-1 List-1I
A)  Anti-Tetanus seruum I)  Artificial active immunity
B) Cytokines ) Natural passive immunity
C) Colostrum II) Artificial passive immunity
D) Tetanus toxoid IV) Natural active ity

V) Innate immunity

Bod T80 2E0shan

erde -1 erf)er - 11
A)  girold Birss HEd ) géd goiride SHATEES
B) &8S~ew ) JIFrady SHAEEES
Q) Soodoaren O) syésde FHAGEES
D) 8&rss drsmjond IV) & Soirie NG EES

V) & RO GEHS

The correct answer 15

Question Number : 70 Question Id : 4557344870 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The events observed by the end of second month of pregnancy are

ﬁi’fﬁ‘;ﬁ?ﬁ?@@i Bois Jo HBES HokSneT EDNod Sodidrsen

Options:
Separation of eye lids

g5 Oy BdSdo

Appearance of hair on head

dodnd Jognden orhdo

Development of limbs and digits
574y, Bdoen, B¢ 5B

Formation of eye lashes

§:5002) Jonsen JGE0

Question Number : 71 Question Id : 4557344871 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the incorrect combinations from the following

SNo.|List-1 List-11 List- 111
I) |Skene’s glands | Homologous to Cowper’s glands Lubricates vagina
) |Colostrum Presence of [g A antibodies Protection of new born
from initial infections
IIT) |Hyaluronidase | Released by acrosome Dissolves zona pellucida
IV) | Hypomere Somatic and splanchnic Gives rise to pericardial
mesoderms cavity
808 T&e° B850 D¥DoDen IS Dood
D.50.|Fder -1 erflas - 11 erde - 11
D |90 Wogen 56 ood Hderdo BrHSHO Serd) 5L
D06
Oy |So rew Ig A H&B5en o) HoEdoe ok
w 0G0 Hoerd 3D B8oddo
) |Srcforendasr | @0 Hod ddde Fo DOrgHEH
E8hoghd
IV) |FraFdnoss FOrEls, oSos sTSoiradde Brord)
Sogigdcaren Dd;df.ﬁ}é:u
Options:
LIV
o LI
3 LIV
g ILII

Question Number : 72 Question Id : 4557344872 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical




Identify the part marked as D in the above diagram

28 qdadd Do D drdodads ermd) hiodod

Options:
Ammnion

@ EN0
1. Y

Allantois
20400

L2

Chorion

L SE)

Yolk zac
Ruttslol

I

Question Number : 73 Question Id : 4557344873 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A): Male ants develop by parthenogenesis

Reason(R):  Male ants produce sperms by mitosis

A3 y&do (A): S0ff Sdven edng=sgo a%oe @éﬁ&”}g% Dodrsron
=0 (R) : Sorf)eT HESeren dHrdes oo S wPhston

Options:



Both (A) and (R) are correct and (R) is the correct explanation of (A)
| (A) $8c5» (R) o0 Bodr 585080 Sobasn (R) @ds (A) £ 28508 D580

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
. (A) 528050 (R) e Bodr 58550 580 (R) »38 (A) § 38508 HIdn s=th

(A) 1s correct but (R) 1s not correct

, (&) 50@50 570 (R) 505D 56

(A) 1s not correct but (R) 1s correct

, () 5056 56 570 (R) 9000

Question Number : 74 Question Id : 4557344874 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements

A) The alleles for Rh antigen are located on different loci on chromosome 9
B) Three alleles of a single gene express ABO blood types in man

C) The erythroblastosis foetalis is caused due to IgM type antibodies

D) TIsoagglutinogens are glycolipids

Bobd woreds wigaHdo Bobhod

A) Rhpéassd) doHood adgoin) Hemen §I0)55 E73ra" S 2 S0k Foes”
€ 0LI"00)

B) Sr390e° o adgdso H0208008 S alnrfnsomen ABO dE5grenss J98500

C) B Eerafon S99 IeM 689 petste 58 Sendod

D) oddrr8SasSer GEoDE

Choose the incorrect statements from the above

2 o8& 0570 mozod Hiokod
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Question Number : 75 Question Id : 4557344875 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
The X-linked recessive disorder of man 1s

SEH5 05T X-@Eﬁﬁﬂf‘iﬂ *ros‘ﬁds‘i 39‘53-5 Eé%s‘.’ﬁ
Options:

Tritanopia

543555
) BOT adr

Cystic fibrosis

0§

er

B3R

!.J
F-FJ'

Sickle-cell anaemia

FESO-Endgersd

Deuteranopia

-:‘_S,Jgéﬁ oPairslevh)

Question Number : 76 Question Id : 4557344876 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Assertion (A) : Darwinism considers the cumulative effect of fluctuating variations will

lead to speciation

Reason(R):  Natural selection is a driving force of evolution
O3do (A) T0(R @500 F'od FITEe Hohid ©
s*dwao (R) : 88 Hd00 HBS008S” grol I§

Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)

D DOEoms) §8 erden Jdydamon

{A) 308050 (R) &0 Bodr 58505 08a5» (R) 238 (A) & S8505 DH



Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) 538050 (R) e Bodr 585050 500 (R) @38 (A) § 585308 DHd 57

L2

(A) 1s correct but (R) 1s not correct

(A) 583306586 570 (R) HB3056 s7¢h
3. [+ I [«

(A) 1s not correct but (R) 1s correct

(A) $8@58 526 50 (R) H85H58
4,

Question Number : 77 Question Id : 4557344877 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a population of 1000 individuals 28% are homozygous dominant. 48% are heterozygous
dominant and remaining are recessive, Find out the dominant allelic frequency

1000 2Hen e z=aegres™ 28% dHoddndes pergaren, 48% S?ﬁ&’)}-ﬁ)ﬁﬁé?ﬁ e garen.

DHDND woddd oforod &Ijon. @werol) as e’ aardd osnidEey TS0
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7
o
o

Options:
; 0.76

0.52

3. 0.24

, 0.48

Question Number : 78 Question Id : 45657344878 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The desynchronised waves recorded by EEG in persons who are tense are

L8865 &) Sdeos® EEG Sard S0d edfisé ddomren

Options:
Deltawaves

1 EP_?_; ddomen



Theta waves

, Gt ddomen

Alphawaves

(ST TeloTanl )
ot

Betawaves

; 5 ddomen

Question Number : 79 Question Id : 4557344879 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following
List-1 List-1II

A)  Ovaprim

B) Omega-3-fatty acid

C) Cadhenns

D) C - Peptide

Membrane proteins
Proinsulin

Reduce cholesterol

3E8=

Synthetic analogue gonadotropin
releasing agent
V) Exotoxin

Bod T8 2&EHG S0

erdar -1 erfea - 11
A eado D Soi@redSen
B) e -3 - FI] s I @radsyds
C) s@boe M SoRosH $4800
D) C-23iomb IV) Fordiiras dddod §yds ardrago

V) J5rsHo

The correct answer 1s
HDOGHE DArprdan
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A B C D
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Question Number : 80 Question Id : 4557344880 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements

A)  The milk of transgenic cow Rosie contains of-1 antitrypsin
B) Cancer patients are given alpha interferons to destroy tumors
C) Attenuated whole agent vaccines act against typhoid

D) Ifthe apoptosis pathway is damaged the cell dies

Bo& =oz egotso wodoh

A) =g H050E 3, 0 Fodt o-1 GSro @S Sotooh

B) SendodH ofSo Bohdod® s7g)d Shok somy aobiporsm adhd

C) ogbhsdd §800% So:yrd el T8oen Bronsd BV EE GHDBITATE
D) @eodsagsn Hdn HEo DHOFB S0 DHEBR0H

Choose the correct statements from the above

,:]a'-'jej" {cﬁf) ek Mbodod

Options:
| A&C

B&D

12

B&C

4 A&D

Physics



Number of Questions: 40

Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4557344881 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If L represents inductance. R represents resistance and Q represents electric charge. then
match the following.

L 2888005, ROG G0k 808 QIgd essidos Srwy, & Bod aridd) e Hrdamn.

List - I (zz=f)a - 1) List - IT (zf) = - 10)
Quantity (T°%) Dimensions (So<en)
QERE . L R
A) i i MEETA
P
; R '
B) QLE m wMorPToAl
R’ -
o) QT m MI2T2A°
QR Yy

The correct answer is

5BEE HEFETHE0

Options:
A B 8 D
IV m i I
A B C D
5 m I IV I
A B c D
I I I I
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Question Number : 82 Question Id : 4557344882 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two bodies falling freely under gravity from heights ‘h’ and ‘H’ cover displacements

sh 11h

of 9 and g respectively during last second of their motion. If acceleration due to

gravity is 10 ms—. then H is

T’ Hdcsn H' Jde Hod hddio S0 'ﬁ:ﬂgtﬁt:]rr Bodisy D) Do Smayen @

5h 11h
[Doire) D58 ke Sdhdm B 08050 5 Sroren (Bodrsdoddd. Mdd; €@edo

10 ms2 @onz, H Dewsd

Options:
1 45 m

- 90m

L2

180 m

Lid

360 m
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Question Number : 83 Question Id : 4557344883 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : When the range of a projectile is maximum. the maximum height reached
1s 25% of its maxiumum range.

Reason (R): The maximum height of a projectile is proportional to the square of the
velocity of projection.

OB &o (A): 2§ Hshso B0, arge) ABRINNYE, o0 H0a 48 R agns 25%

- a_—

0830

g

s6mo (R): &8 H8H80 A0, #8% I od BN I S8 sdhs Sriarsos”
v 0.

Options:



Both (A) and (R) are true and (R) 1s the correct explanation of (A)
: (A). (R) &0 Bodr S50 8050 (R). (A) 5 505 D56

Both (A) and (R) are true but (R) is not the correct explanation of (A)
. (A). (R) o0 Bodr 3550 520 (R). (A) & 5088 D880 s°¢h

(A) 1s true but (R) 1s false
. (A) g0 520 (R) esdegain

(A) 1s false but (R) is true
, (A) =5855% 50 (R) H8ga0

Question Number : 84 Question Id : 4557344884 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A particle moves along a circular path of radius R such that its speed ‘v depends upon

distance ‘s’ as per the relation v= 0+/s where ‘0 is a positive constant. Acceleration of
the particle after traversing a distance ‘s” is

ngﬁwgo e é&@g‘;?d Eéjf*do Sok tﬁ@fﬂ:ﬁ; .8 B 38 v g ‘s’ & .r:{m@
D8G5 BsRdod Srdehdd, R o a8 5 Qoroso. ‘st Ardan oS
ddrae B étgdaam

Options:
2 1 52
“Na o
1 4 R
7 1 52
o ,{—+ o
5 4 R
1 s
Uy [—+——=
2 R?2
3
0] 1 52
o, —t—=
2° W2



Question Number : 85 Question Id : 4557344885 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When an empty plastic box of mass 8 kg 1s placed deep inside water. the box accelerates up

i B - ;
with e Mass of the sand that should be kept inside the box so that it may accelerate downrward

rjq'

with = 1s

LW ]

(g - acceleration due to gravity)

8 kg (5550°8 tie &8 7@ rHF DD 08 S'he S GodHNFE ©b i & 8 &0
B : g s ° v—
Botdod. = 3 & Boh8 €edmo Borreod & DHS' GodHodS HE ($I5078

(g - Mhthes dedasn)

Options:
| 14kg

8 kg

[

Tkg

10kg

Question Number : 86 Question Id : 4557344886 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The time taken by a block to slide down a smooth inclined plane of inclination 45° 1s ¢; and
the time taken by the same block to slide down a rough inclined plane of coefficient of

kinetic friction — 1s #,. If the length and angle of mclination of the rough plane are same as

.
those of the smooth plane. then f—l 1s
2

aen oo 45° e .8 D a‘-'@}ée_}o_gg Sood 2.8 530 8ob8 TBHd% Hinsreo 1

aa
" - 2
D080%» «Bd grenfoo, @8 D), fée Hodo Mo — e K% e oo SHod
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B3 8068 BHLB Hin 5700 fH, wones & -
i B 2

Options:
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Question Number : 87 Question Id : 4557344887 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



An object of mass 2 kg moving with velocity 20 ms™ collides a stationary metal body of
mass 100 g placed on a rough horizontal plane of coefficient of friction 0.5. After the
collision. the first body comes to rest and the second body moves on the rough horizontal
plane through 100 m before coming to rest. If the energy lost in the collision is absorbed
as heat by the second body, then the raise in temperature of the second body is

specific heat capacity of the metal =02 J g 'k . g=10ms™)
(sp pacity g g

20 ms ! SKos° $058) 2 kg (855078 fe a8 5D 0.5 b Mo Ko i §ae
Sdrodd dwop AHRES” &5 100 g BS50°8 o af STY SIS & s
widrdo 28asb. @dHrdo dhad Jndd 50D IHoLas SSE SBofn Bodkd

50D 7hH% §e Hdrods Sodnp 100 mdrdo Eosrdon HFHe P86 $AKE. wPHrsod”
SPF00S 480 Bodd 5P &R0 SrHoes” FRodd, Bodd H5H3H D) LSS’

(5% D3y Fdodgo =027 gk, g= 10 ms™)

Options:
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Question Number : 88 Question Id : 4557344888 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A cyclist rides up a hill with constant velocity. When he exerts an average force of 20 kg-wt
on the 50 cm pedal rod, it completes 6 revolutions in 4 s. The power developed
by cyclist is

a8 $558 HdoDifos &8 85K Fodns FEy oy, w85 50 cm FEHHo wES o°d
B 20 kg-wtBiién weo HArAoNHNE, ©b 45 0S5 6 HBEiares BHE6. wond
8B 20BAS S0 gg0

Options:
| 0.924 kW



, 3.20kW
1032kW

723.4 kW

Question Number : 89 Question Id : 4557344889 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A billiard ball of diameter 5 cm at rest 1s hit by a cue at a height 0.5 cm above its centre. If
it rolls with a linear velocity of 10 ms™.. then its angular velocity is

QD D&S” &5 5 cmargdorie HOOHE 208 §IF FHNSE oA So'Rs 0.5 cm S 5745
@8 10 ms™! Bhodh o’ §08, o SedoH i

Options:

| 250 rad 52

400 rad 57!

B ]

3 200 rad s7!

500 rad g7

Question Number : 90 Question Id : 4557344890 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Auniform rod AB of mass ‘m’ and length ‘27" 1s falling freely without rotation under gravity
with AB horizontal. Suddenly the end A is fixed when the speed of the rod 1s *v". The angular
speed with which the rod begins to rotate 1s

G358 M S8 FEY 2 KRS w8 D86 §§ AB ISy mHsasgs’ §oas
DEIGE. ABéc:g girang Jdrosdom wol. é% BB V' eonSH9d wSTm @ D56
A % Hore dowrd). @by 5(% EfSom0 Boddo Fndenndad, ord §dah Fo

Options:
v

1/



Question Number : 91 Question Id : 4557344891 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A disc of radius R is pivoted at the rim and is set for small oscillations. If a simple
pendulum has to have the same time period as that of the disc. length of the simple pendulum
should be

—

R Tgﬁvgm Ko DEsd HoED 20ihSg @Perdddh Goaren ﬁmﬁjﬁjﬁé. 2.8 ©H0
Fogin Foardds sodn HFsd o8 Foardds serdd SSrssaeod, Segsn

S (haY)

Options:
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Question Number : 92 Question Id : 4557344892 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Two particles of masses my and m,. initially at rest and at a large distance from each other.
move under the action of mutual gravitational force. If R 1s their separation at any instant
their relative velocity of approach at that instant 1s

my 528050 my BSgordhen e ok foren wEmd ok HEEE whE drdod” Dok
Do WS od, HEHE HhderiEdn pwo dod IOHT0m. R eksd 200 Eewoed
T8 $rgiy S0 wond & Eoes® T3 eSS (Fddg) FnE o

Options:

\/G(ml +1m,)
| R

\/ 2G(m; +m,)
R

k-2

JEG('ml —m,)
R

\; G(m; —m,)
2R

Question Number : 93 Question Id : 4557344893 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The rubber cord of a catapult has a cross-sectional area 1 mm? and unstretched length
10 cm. If it 1s stretched to a length 12 cm and a body of mass 5 g i1s projected from it. then
the velocity of projection of the body is

(Young’s modulus of rubber =5 ¥10% Nm™)

2.8 3@ (catapult) £ B0g Send @ dd hdéiﬁt:ci Jarogdn 1 mm? 58033
riHoDaEd o 10 cm. 6D 8D 12 cm @HSod 68 FHbL, BS50°8 5 g e e
SHHd 6D Sod HEI0 BHS = IHY HEN SrSw

(Senyd> 0%0R HreEdn =5 x10% Nm™)

Options:

5 ms!

1.

. 10 ms™



5 15ms™!

- —1
A 20 ms

Question Number : 94 Question Id : 4557344894 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An ornament made by nuxing copper and gold weighing 50 g in air. weighs only 46 g
water. If the specific gravities of gold and copper are 20 and 10 respectively. then the mass
of copper mixed 1s

moe* 50 g exthd) Ko orf Dobad» womrdo NFHod BoHadd w8 weifddn Vides”
46 g 26HH Srgay 5O B, womdo HBon ooh :ﬁm‘-‘o;@ D8Y Hodoagen HEHT
20 5380350 10 wond, esgidmoss® Eededs oof (ESa3go3
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Question Number : 95 Question Id : 4557344895 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two metal spheres S; and S, are made of the same material and have identical surface
finish. The mass of S; is thrice that of S,. Both the spheres are insulated from each other
and are heated to the same high temperature and placed in the same room having lower
temperature. The ratio of initial rates of cooling of S; and S, 1s

&8 HIrgod® VoS Both &R Feron S1H00akn Sy HUg SSrSHS eHdderod 0
&aom. S (B550°8 S, |$D5goea8 3 Bw. Do Hlerod 28 whE GddsH D& B,
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Question Number : 96 Question Id : 4557344896 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Ice at 0 °C 1s added to 200 g of water mitially at 70 °C ina flask. When 50 g of ice has been
added to it and is melted completely then the temperature of flask and contents becomes
40 °C. When a further 80 g of ice is added and melted completely. the temperature of
whole system becomes 10 °C. Neglecting the heat lost to the surroundings the latent heat
of fusion of ice 1s

0°C &g e ot iy e® 70 °C 879 &I fo 200 g O¢58 EDard. 50 g Hrohdd
B8 é@rﬁa;‘ﬁ;’aﬁcﬁ}? wd b EGihb dod é.fg:f:t}& 6050 woddeitR E’JEFD;@ ﬂ“—;%[ﬁé 40°C
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Options:
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Question Number : 97 Question Id : 4557344897 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



When some amount of heat energy is given to a monatomic gas. the work done by the gas is
70 J. If the same amount of heat energy is given to a diatomic gas. the increase n internal
energy of the diatomic gas is

28 JEBCHT0E oINS Fod HBIr@o fde NIED BN ol DO DA
70 J. 228 $8570 e &RIE0 2.8 BDIDT0E TroinE NS, HLHCHTIE Tr 050
20808 8¢5 ndihide

Options:
1257

150 J

k-2

21757

7017

Question Number : 98 Question Id : 4557344898 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An ideal gas 1s confined to an 1solated closed chamber. As the gas undergoes an adiabatic
expansion. the average time of collision between molecules increases as V', where V is
the volume of gas. The value of x is

(Y= Ratio of specific heat capacities of the gas)
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Question Number : 99 Question Id : 4557344899 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For a perfect gas the ratio of specific heat capacities is given by 1.5. The number of degrees
of freedom of the molecule 1s

E_‘:l

§ s08) Tolnys D8R @?500;56_} Q@ 1.5 a:’aﬂqe:ﬁ:’ﬁj esarod0 w0 G308,

kil o

Jedolgy Hldnde Dopg

L

Options:
13

1 4

Question Number : 100 Question Id : 4557344900 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A transverse wave is propagated from the lower end of a rope which 1s suspended vertically
trom a rigid support. The nature of the graph drawn between the speed of the wave taken
along Y-axis and height from the lower end taken along X-axis is

&) esprdo 108 ALDMYT Berdbohads @k §ob Dok el 8555 ddolio HHBHA.
e 8ol ImA) Y-wgo Jond, e |k §oh §S 508 Jdid X-wgo Jond 05D HHI
e Dgerdo

Options:
Parabola

| Rordecho

Straight line parallel to X-axis
X-a508 ddrodbomr J8¢0n
Straight line parallel to Y-axis

y Y-o508 Sdroddomr H5¢0p



A sine curve

Question Number : 101 Question Id : 4557344901 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A sufficiently long closed organ pipe has a small hole at its bottom. Initially the pipe is
empty. Then if water 1s poured into the pipe at a constant rate, the fundamental frequency of
the air column in the pipe is

dhdod @réie el Hrdd YL wdiherms O8) doddn Sodih. dndd Fio
IO &0, = ddard R0 Bend F{os” A6y PasnbHyd, o™ md Hodo
GCo0E), 08 BH)ga0
Options:

Continuously increases

wdoddo Tdtdoh

First increases and then becomes constant

o025y 8A #dhare ?gdonﬁ 08008

13

Continuously decreases

fddoddo é@i&m&

First decreases and then becomes constant

; S00cidd :5{1 8 50aTmeh ?Qadorr =odnoh

Question Number : 102 Question Id : 4557344902 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A thin equiconvex lens made of a material of refractive index 3 has focal length 0.2 m.

When 1t is immersed in a liquud. it acts like a concave lens of focal length 0.5 m. Then. the
refractive mdex of the hiquid is

SB855 rbeaso He Hogod DoHeES w8 DHendd Hdkogrsd §E Tgigosdan 0.2 m.

tq|u.-'

BN .8 1BHdNS® 2o ﬁn@ﬂéa’};‘f@, wf 0.5 m af*ejggédﬁmﬁ@ Dirsd EHEI0HD
(2380058, BHHw 5188555 Hzasdw

Options:
17

oo | D

Question Number : 103 Question Id : 4557344903 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two coherent sources of equal intensities produce maximum mntensity of 100 units at a

point. If the intensity of one of the sources is reduced by 50% by reducing its width. then
the intensity of light at the same point will be units.

28 @Eidgen Ko Do dond sodelsten wf Dokd 5§ 100 chrddy KO (356 50

dadTon. THS° IE° o8 adso BnE) Jdenyd Showdy BT TR EEBES 50% &

o,
]

ol
SnoDd, «B Do ¢ 5708 HEH oSty i,
Options:
| 90.35
189.86

L-2

67.35
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Question Number : 104 Question Id : 4557344904 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A system has two charges 2.5 % 10~/ C and —2.5 x 1077 C located at points A(0. 0. —15) ecm
and B(0. 0. 15) cm respectively. Then the total charge and the dipole moment of the system
respectively are (in C. Cm)

2,8 BEBHHES* Bokd sHzen 2.5 % 107 C5dasn —2.5 x 107 C en $8dm A(0.0.—15) cm

5000 B(0. 0, 15) cm & 5¢ Sodadhd. wond Jndo wido Srdain 5558 B
Eraosten HHm (C. Cm e¢5%)

Options:

0. 7.5x10°®

; T5R16%, 5%

0, A% 107

g BT, FSwin®

Question Number : 105 Question Id : 4557344905 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two small spheres each having a charge +Q are suspended by two msulating strings of
equal length L from a rigid support as shown in the figure. This set up is taken into a satellite
where there i1s no gravity. Then the tension in each string is

25788 +Q Emgﬁﬁéo EOAS Bodh DN Moo Jdrddhs & L do Tod 2048
Briod &8 550 Hod HHBNS" Srdsty Bordbohnddd. & SgE9s HeiEdn
B0 &dTro S8 EFD Igpdod. wond .88, Brie"D) #igs
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Question Number : 106 Question Id : 4557344906 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two neutral metal spheres. each of radius 5 cm are placed with a separation of 1 m between
their centres. Some charge is transferred from one sphere to the other such that a potential
difference of 33.4 Vis developed between the surfaces of the two spheres. A proton released
from rest from the surface of the positively charged sphere strikes the surface of the other
sphere with a speed of ms~.

(charge of proton = 1.6<1071? C. mass of proton = 1.67x 1027 kg)

,

8388 5 cm agargo Ko Tody 63 g5 Feod o Sogre gy 1 m &rdo
&oé:‘:&@g}r‘r oo d. Both Fee deore ¢y 33.4 V >BJ0HS 250 Dcﬁjﬁ 588 a8
Ao 100 DHEE Meds Fod sizTd) SrdERSH. doddo Fods K¢ dvo ok o8
ErErdody QfHe ?{%e‘iﬁ S0k S0O0S5 wd Todd Ado dIng), dord) eRINLE o0 &

I_'EIE_:l i

(Erérsy =380 = 1.6x1071° C, |&rérs \BSg08 = 1.67x10727 kg)

Options:
| 2x104

4x104

]

8x10*

Lsd
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I

Question Number : 107 Question Id : 4557344907 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical



A parallel plate air capacitor has a capacitance *C’. When it is half filled with a material of
dielectric constant 5 as shown in the figure. the percentage increase in the capacitance will

be

a8 Ddrodd Jofe md STFLbs ‘'C’ BT 08 o, A Hbhod” Srhd ddor
5 g :g-:r*oé-:u SHer e éﬁgoﬁi DR Dohad o) E&?JE:@@“‘ e TN
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Question Number : 108 Question Id : 4557344908 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Eight resistors are connected as shown in the figure to a battery of emf 12 V. The current
through 12 2 resistor between the junctions B and C is

D065t Srhd Do Qaand abdstei 12V emf ey .8 a*-*g-ﬁ:-ﬁé«" EDardy. B oo

C Sodhe Sy e 12 Q) HE6° P80 oo DGSE Bariro

Options:

1 S0mA

100 mA

L2

150 mA

200 mA

Question Number : 109 Question Id : 4557344909 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For the circuit shown in the figure. the power dissipated in the steady state is

HdaoeT Srhd Sedioss, Eje_:-été?maée_‘i" Lﬁ:tﬁaggoﬁ:-s’umﬁ ﬂ“sioggo

3 uF — —2 uF

Options:
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Question Number : 110 Question Id : 4557344910 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When a superconducting loop with zero resistance is moving towards a magnet. the flux
linked with the loop

g6 g0 do wdaiE &y woHir) odo IH 2OASHG, 708 S5YERS w0

Options:
Increases

| fofdaod

Decreases

Srdod

L2

Remains constant

Egdorr—* =0tnoh

First increases then decreases

B0dey B Sogd S

Question Number : 111 Question Id : 4557344911 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A copper wire of diameter 3.2 mum carries a current. If the maximum magnetic field due to
this wire 1s 2.5 mT, then the current in the wire 1s

3.2 mmargdo e ooh &1S® Ddgs HIFHRNG. & &if Se K165 wakhar of §igo 2.5mT
wond, IS Jgd Hardro

Options:
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Question Number : 112 Question Id : 4557344912 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A telephone cable at a place has 5 long straight horizontal wires each carrying a current of
1.4 A from east to west. The angle of dip at the place is 60° and magnetic declination is
zero. The resultant magnetic field at a point 3.5 cm below the cable is T

(Earth’s magnetic field at the place =0.4 G)

287848 L4A J6gs HareTta) drdd) Mol HE0 F) DAk 5 rdard 800 &
DSrods Biien wf PHESL 3§ ¢l BOFS SwdeS” o). s BiFosS® wlrd wo

60° S:8050 @oﬁjﬂ?,-aé 551;1',:‘_‘%0 ‘5’3;5:,;. Send 806 3.5 cm Ardost He wf DHoHY a’}gﬁ
pOd ©akhr) o Bld0 £ )

& (HBFoS" gfrechirod o =04 G)

Options:
| 25107

3x107

L2

Question Number : 113 Question Id : 4557344913 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical



A rod of length 4/ 1s rotating about an axis passing through it at a point “O” as shown in the
figure with an angular velocity ® i a uniform magnetic field of intensity B which is
perpendicular to the plane of rotation. Induced emf between its ends 1s

4] FEHNe é'ga HL06° Srhd HFom ‘07 Dot o Fd) wgo Hdom 5B o558
0F Ehoadesnss vondnmr Bé@die 2866 wohim od gi@od” @iino Dosn@h)h.
0 5@ Eie Sy (20€ derw
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Options:
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Question Number : 114 Question Id : 4557344914 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

500

i
series. Then the impedance of the circuit is

Hz is connected across a 20 £ resistor and 15 mH inductor in

Anac voltage of 100V,

500 = _ e
100 V. — Hz ac £8=20 20 Q 28°¢%80, 15 mH (8o Hom @he™ £dardh. =ona
& 2

Jocho @nE) w35 o

Options:

L 250

2 40 Q



Question Number : 115 Question Id : 4557344915 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

A laser pomter of power 3 mW creates a spot of 2 mum diameter on a screen. If the screen
reflects 57% of the light that strikes it. the radiation pressure on the screen is

speed of light in vacuum = 3x108 ms™)
(sp 2

3mW rﬁ"‘ﬁjggﬁﬁﬂ 0.8 Bed ronodd (Bead 2:80) &8 86 2 mm argdoffie .8 S8 &

JG\Hd00. B IR 33 5708S° 57% 5 Horddho @R, BOR I8 adbo

Options:

, 3% 107% Nm—

4 1075 Nm™
5 % 1079 Nm=

6 x 109 Nm™

Question Number : 116 Question Id : 4557344916 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A photon of energy E emits a photoelectron from a metal surface whose work function is
Wy. If this electron enters a uniform magnetic field B i a direction perpendicular to the
field and describes a circular path of radius °r’. then ‘1’ is

(m - mass of electron: e - charge of electron)

DR Wyde o S50 &3dde0 Hod, E #§ fo Firs, af & Jogsd
&Trdo BRod. & JOES J868 wodar) od Fgo B N8 wondFSt Basod 7 argargo
Ao Syarsed HeEd) @Sd8308. wond I’ Dend

(m - JoEs ($550°8, € - oD esa3¥0)

Options:
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J2m(E—W, )eB
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JZm(E -W,;)
4, eB

Question Number : 117 Question Id : 4557344917 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The radius of the first orbit of hydrogen is ry. Considering U~ particle with mass 207 m,
revolving round a proton like in Hydrogen atom. the energy and the radius of the orbit of
the U~ particle when it is in the first orbit are respectively

(Assuming proton to be stationary. m,. - rest mass of electron)

i,

TE RS @NE) Jn6E €grg agRrdo iy RS H0SrST o, af (@S i

)

[ T

207 me ((3550e8 D) .8 P o DOEID[5)EN 08008, B0E §855° W 80 &
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D008 B E}‘giﬁ’t};ﬂ} 8D

(Fera 'F;;:démr? GBS B8, me - JoE oD (BS550°8)
Options:
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Question Number : 118 Question Id : 4557344918 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A nuclear reactor of power 200 MW uses U2 as fuel. If0.1% of mass of U>*” is converted
mto energy. the mass of the fuel consumed per day 1s

200 MW &rsoggofie &8 Boiss 8airg6 U & modssnm ss3@raodms)s. 0.1%
|3 (55078 8 Sr08. o€ eres® JODrAoLHRE QoGS (B5g0°8
Options:

[ 192¢

Question Number : 119 Question Id : 4557344919 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Five logic gates are connected as shown in the figure. If A= 1 and B = 1. the values of
¥y, vy and vy respectively are

M) -;-:Sr:ﬁEI rgoren HE0est BHES Ao enHadsd. A=150c% B=1 wonad, Vi Vo
0803310 ¥3 dewden d6Hm

Ae [>o )Ll
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Options:
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Question Number : 120 Question Id : 4557344920 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The modulating wave i1s given by V, =4sinw_t and the carrier wave is given by

V. =16sma@_t. The percentage of modulation is

SrcfagBedon Hosddn Vy =4sino,t 8050 o7irs HSosdo V. =16sinet ©ond
SrdgBAd Srd TS
Options:
1. 50
g 13
3 100
-
4 25
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Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question 1d : 4557344921 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the wavelength associated with particle A is 5 x 10~°m. then the wavelength associated
with particle B having momentum half that of A in ‘m’1s

A gm0 BnE) E8onBygo 5 x 10®3m =003, B €00 G008, @aﬁgﬁr‘io A Eca0 803 D0
&Hayd o°0 S8oi BEgo ‘m’ o’
Options:

| B

1167

L-2

5 2

6 x 10734



Question Number : 122 Question Id : 4557344922 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) :

Reason (R):

E‘r%::lsﬁﬂ (A):
s*de0o (R) :

The kinetic energy of the photo electrons increases with the mncrease of
frequency of incident light

It frequency of incident light is less than the threshold frequency. electrons
are not emitted from metal surface

1" 4

5708 Jogde Hézdl HdS5s0s THdHgo HON FH DD
DBS 5708 D0E) TS0 BEoE DPHDOLo 508 S8 D D,

5% 50800 08 JuEFEaor aohHig IeoSEH

The correct answer i1s

HBGS DETFTBE0

Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)
| (A) 508050 (R) o0 Bodr 586050 Hobasn (R) =36 (A) & H8608 D550

Both (A) and (R) correct but (R) 1s not the correct explanation of (A)

]

(A) H528050 (R) o3 o> 386050 =onad (R) @36 (A) § 3808 D58 s=eh

(A) 1s correct but (R) 1s not correct

i (A) 58056 570 (R) 2053088 s7¢h

(A) 1s not correct but (R) 1s correct

, (A) 88556 570 (R) 305086 5765

Question Number : 123 Question Id : 4557344923 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The change in properties which are common to elements of both groups 1 and 17 in the
periodic table are

a)  Iomization enthalpy decreases down the groups
b) Reactivity decreases down the groups

¢)  Atomic radius increases down the groups

d) Electronegativity decreases down the groups

253300 “Ség}érsﬁ"" ey 1 s0doin 1ty 17 Sorostos ﬁé}é&rﬁ é:g:ﬁal c:SU‘-*é@ I-ﬁ}"d};}m
a) ©oHAEGD Jogrd) (ires” Bods S

b) dSorgdeod ErHos® Bodd S

c) HESrw agErdo rHes” Bods HEHD

d) S IEETSES YOS BosEd SiHiS

b
&
o

Options:
 a.c.d

a.boe.d

L-2

3 ab.c

4 b. c. d

Question Number : 124 Question Id : 4557344924 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following statements is not correct?

Bod DIBmes” I6 J0GHSH &2
Options:
s-orbital does not form a m-bond

1 s-258\6r S M-210450:) Dd;.,dtﬁm

Energy of resonance hybrid of the Oj; 1s lower than that of either of the two canonical
forms

0, 38°35) T8 4§ 0 Do TTES drdre 4§ 08 S8

2



o-nitrophenol is mvolved in intermolecular hydrogen bond

ol

0 - JEF° Shords wodd woma¥ TE e 206065° areStind
3. = = "
Dipole moment of NH, 1s higher than NF,

) NH,; @»8), &gioagranso NF; 508 08 9m 608

Question Number : 125 Question Id : 4557344925 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The correct order of type of hybridisation and shape of the following species is

Bob erooes” Ho88E0n 80 HBon esBihe HBDD D oo

a) [Ni(CN),? b) CIF, ¢) BiF, d [cE]?
a b C d

Options:

sp> spad spd? sp d?

Tetrahedral Trigonal bi pyramidal Octahedral Square pyramuidal

BErrds BTES BHdndS  syerds SR Hoddsd
1.

dsp” sp°d sp°d? d’sp?

Square planar Square pyramidal Trigonal bi pyramidal Octahedral

nadde FAGR SO HEDED @ﬁ*eﬁﬁ@ D00GS  esgTrds

-2

dsp? spd spd’ spid?
Square planar T=shape Square pyramidal Octahedral
! paode gy T-essdo BEEER D8nES BT IES
sp° sp°d spod? spod?
Tetrahedral T-shape Square pyramidal Octahedral
" Siroids T-==5=80 P8R DYES B ES

Question Number : 126 Question Id : 4557344926 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



-

3.2g of oxygen and 0.2g of hydrogen are placed ina 1.12 L flask at 0°C. The total pressure
of the gaseous mixture in atm is

(assume oxygen and hydrogen as 1deal gases)

0°C 58 1.12L i) e5° 3.2ges8jzs 0050 0.2g 7@ sodnddd. & a70dn MFso
Bngo DS atm e
(s, TrEEce sdd) Toindhod @ Hdn)

Options:
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Lu
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Question Number : 127 Question Id : 4557344927 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When 50g of sulphur was burnt in air 4% of sulpur was left over. The volume of air in litres
required at STP containing 21% oxygen by volume 1s

S0ge fﬂﬂq}ﬁ e SroksHyd 4% Eﬁ@;ﬁ_ HidFonoh. STPSE 21% =8 SHdhrao0
Hdomr sHedd md HSHBETme Obdes®

Options:
1. 33.6

42

3 160

HES
1
b2
o

Question Number : 128 Question Id : 4557344928 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Match the following

List-1 List-1I

AH AS AG (Description of reaction)
A - -+ - I) Spontaneous atlow T
B) - - - ) Nonspontaneousathigh T
) - — + II) Spontaneousatall T
B + + — IV) Spontaneousathigh T

V) Non spontaneous at all temperatures

Bo& e adhtdiw

erdlar - 1 erfae - 11

AH AS AG (505 DHdea)
A) - + — D) ooy adid 5¢ wohégEo
B) - - ~ ) =68 GRS 5¢ wdahis o
C) - = 4 ) Q) eFide 5§ wohé o
5 R SRR S IV) ©88 &6 3¢ vahiygso

V) @) esdide 5¢ =sahés@o

The correct answer is
BOFS DEFTHE0

Options:

A B E D
LI E W

A B & D
=i

—|
=

A B

=
ve)
®
C

Question Number : 129 Question Id : 4557344929 Question Type: MCQ Display Question Number : Yes Single Line Question
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Observe the following reaction

If the total pressure for this reaction at equilibrium 1s 30 atm. the value of K, (in atm?) is

Bod £6gc H0EDoHBN
& $0g8 ddoe s 35 DJwndo 550 30 atm =ond, K, dend (atm? ere5%)
& £ =

Options:

22
l. 225

1%

S
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Question Number : 130 Question Id : 4557344930 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If pK, of a weak acid (HA) and pKj, of a weak base (BOH) are 3.2 and 3.4 respectively. the
pH of their salt solution (BA) is

i 6

Question Number : 131 Question Id : 4557344931 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



What volume of oxygen in ‘L at STPis liberated when acidified KMnO, solution containing
0.1 mol of KMnOy is added to excess of H,O, solution?

0.1 mol KMnO, #fie -Silpgégjé KMnO, @"Heaq), 288 H,0, 3750708 88050, STP ;3%5
Jod PdHbdreo Mo ez ‘L od® Hddoifdoh?

Options:
| 5.6

11.2

[

5 22.4

5 294

Question Number : 132 Question 1d : 4557344932 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

On dissolving moderate amount of sodium metal in liquid ammonia at low temperature.
which one of the following does not occur?

89 5 S S Dod HBSr0S® FRoho ol (B35 ©TN0ires” §8A0DSDTE,
Bod amedes® 2drn 6?2

Options:
Blue coloured solution 1s obtained

QO o [ErH0 JEYE5

This solution has paramagnetic property

& (rd0 o woharod $omd) SO0 wotnod

-2

This solution becomes good conductor of electricity

& |TH00 D00 AGGENETE0 @i

This solution remains diamagnetic

& ([°dee0 S0 @i 08 (608 GodFob

Question Number : 133 Question Id : 4557344933 Question Type: MCQ Display Question Number : Yes Single Line Question
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Na,B,0, -10H,0—2X+NaBO,+H,0

-X-Hfo[} A .y (Blue colour)

(HOS0)

Xand Y are
X 508050 Ye
Options:

_ Na;BO;. Co (BOy),

Na,B,0.. Co (BO,),
., B,0;.Co (BO,),

, B205. Co(BO,);

Question Number : 134 Question Id : 4557344934 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following statements 1s not correct with respect to group 14 elements?

i 14 Sorosted Honofodd (Bod H5Gnes® Jb HBFDNE 5°k?
Options:
The stability of +4 oxidation state decreases in the group

+4 e-:%:,éd@a ?@35“.‘@ n:ﬁ:oé& ?@adoﬁﬁ“a Hi=ees* ér‘i);&

The common oxidation state for carbon and silicon 1s +4
58S, OSSO T w88 ba +4
Pb* is more stable than Pb2* ion

Pb** 05rS 508 Pb* wosrS 89,8 Qbom &0k

The stability of +2 oxidation state increases in the group due to inert pair effect

4 2 2oL PErSo Jos +2 gé}éﬁea D8 YOS00 (DS DD



Question Number : 135 Question Id : 4557344935 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following statements 1s not correct?

B0H woFee JBEEH TNE 87
Options:
Lower the concentration of dissolved oxygen. the more polluted is the water sample

§0h &) wfmd mEd S50 « "}53"@& o) Fo0S ehsorr SenndsnHSrok

The tolerable limit of lead in drinking water 1s 50 ppb
EAAES® BE g rBom 50 ppb e oSy

Water 1s considered pure if it has BOD less than Sppm
BOD Dend Sppm 808 65 85 &5) Athd H Hm erdodad

In COD deternunation. the pollutants resistant to microbial oxidation are not oxidised
by oxidising agent like K,Cr,0,

COD & dgonoihds e5° E”mgé_pé S 3 %énﬁ@a D65 S srendg s*dsren K,Cr,0
$085 =8E08S w8Edno Bodd

Question Number : 136 Question Id : 4557344936 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

0.5g of an organic compound on analysis by Kjeldahl's method gave enough ammonia to
just neutralise 20mL of 0.5M H,SO,. The percentage of nitrogen in the compound is

0.5g & a8 70\ pumﬁéécﬁmm Berd HGae” JFAmo BOLIHYE ©Hodd wIr VS
20mL 0.5M H,80, & -f-:'é,fwéﬂo Sds6. &

DA #d0es” JETtes TEo
3

Options:
1 56

2. 28
3 42

4 14

Question Number : 137 Question Id : 4557344937 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Which of the following is oxidized by KMnO, solution?

§08 770" 28 KMnO, ird0od” =§jgdno Boki?

T

Options:
CH,CH,CH,
1. &

, CH,
, CHCH,

, (CHy),CH

Question Number : 138 Question Id : 4557344938 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Conc.H,50, 1) Alcoholic KOH
Ethyl alcohol __ m# HiS0s Bn/CCly ey FdS§ KOH =~  Bn/CCly
¥ Gy > A > B R NaNE, » C >D

2GS0 we) S

What is D in this reaction sequence?

& $dgo @FdS" D 26?2
Op.tions:

| CH=CH

CHBr, - CHBr,

, CH,Br—CH,Br

CH, - CHBr,

Question Number : 139 Question Id : 4557344939 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



In a cubic close packed structure of mixed oxide. the lattice 1s made of oxide ions. One

eighth of tetrahedral voids are occupied by cation A while one half of octahedral voids are
occupied by cation B. The formula of the oxide is

2.8 DS BB WS DYerd X)) D070 &FHB woirden S 10705 Y.

| 1
Py S0y DTS Jo@eds” sdire Aen $Bdsn Ea’)::mféa sgrdd dopred”
5°&05rd Boo ssiEoded )9, ¢BkE GwE), Jriner

Options:

| ABO

. ABO

; 49820,

3

4 ABO,

Question Number : 140 Question Id : 4557344940 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following is correct for solutions of components of A and B to follow
Raoult’s law?

A. B =5000850e0 ﬁa@ rasaren, 39 mod;:}mi Ftowreod, §ob a5’ S olenbEsTAY RIAY,

Options:
A-B attractive force 1s greater than A-A and B-B attractive forces

A-Be n“mﬁg ﬁcﬁg %éi_jlza gerery A-A H805n B-Be a‘)aqﬁg Es;’ﬂ %ét_j:a peTey 0
aHEom o

A-B attractive force 1s less than A-A and B-B attractive forces
A-B = éorjg ﬁnﬁg -EQ%_E‘E} aereyy A-A H803n B-Be éodg ﬁéﬂl Eéi’gl?a perey 808
g5 T o

A-B attractive force remains same as A-A and B-B attractive forces
A-B = mqig ﬁ;i;\ %:gc’_fga peren A-A Mb6cin B-B e ;iadg ﬁ;ﬁ;;. r?;-“éqlm BeTrer s
AT O e300



Volume of solution is different from sum of volumes of A and B components
\Eraiga0 G30E) 5DH085rm0 Aodoin B edidbsre 3udgo D800 Hom

00850

Question Number : 141 Question Id : 4557344941 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

How many grams of sucrose should be dissolved in 100g water in order to produce a

solution having difference between the freezing point and the boiling point temperatures
as 105.0 °C?

(K;=1.86 Kkgmol™. K, = 0.51 K kg mol™)

D) rEno HEED 100 g HBS* $6R0DSHYE IR ESmo B, eSS o

50050 DS Fo Sy Ba 105.0 °C e Gok?
(K= 1-86 Kkg mol™. K, = 0.51 K kg mol™)

Options:
| 342

[
e |
(]

il
T4
o
(i

Question Number : 142 Question 1d : 4557344942 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At T(K) the molar ionic conductivities of NH, and OH™ at infinite dilution are 72 and

198 S cm? mol™! respectively. The molar conductivity of 0.01M NH,OH solution at the
same temperature is found to be 9 S em? mol™!. The percentage dissociation of NH,OH
at this concentration is

T(K) :'}QNH;’ 58050 OH™ eoirde @S558 Srerd arardden SHdmr 7258050 198 S cm?
mol™ =7 eié 50 0.0IM NH,OH o0 &g Frerd oiréd 9 8 cm? mol - &0,
& s 56 NH,OH 6ing) dindss ado

Options:
1 3.33



2 7.14

Question Number : 143 Question Id : 4557344943 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When the concentration of a reactant in the reaction. A — B 1s increased by 8 times. the
rate increases by 2 times. The order of reaction 1s

A - B el $6ge° (8ol us80 mEd 8By DOASHYE SomgBin 20y K. & Sy
GI0g) [Earoso

Options:

§

g | =

Question Number : 144 Question Id : 4557344944 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the gold mumber of potato starch is 25. how many grams of it 1s required to prevent
coagulation of 100mL of gold sol on adding 10mL of 10% NaCl solution?

ROMmehon by MBng ey Sopg 25 wons 100mL ey ardsy 10mL & 10% NaCl
B°5200 SQHHDYE 2280 08550 Sr00) HBEEORFT S JQ TNV LG @IDEBMH?

Options:
| 0.30

1.0.50
5 0.25

4.0.40



Question Number : 145 Question Id : 4557344945 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following methods is used for refining metals of low boiling point when
they contain impurities of high boiling point?

wHE S8 i‘g;’io Hey Sodaren 005 wen Db fgxﬁo ey 575 terdn 58850 @ DEE D67

Options:
Zone refining

Sode F850

Poling

5 80N

Dastillation

fﬁﬁéo

Froth floatation

Question Number : 146 Question Id : 4557344946 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The chemicals used in Holme’s signals are

E’ﬁﬁé :‘f:u:fé@‘-*@: SADTH0R SSrcSaren

Options:
Calcium nitride and calcium carbide

srdodo JBE HBa3n 57HoHo 5TO\G

Magnesium mitride and calciun phosphide

SfiechHo JBS ndoin s7HoHo FING
L ek ae B e

Calcium carbide and calcium phosphide

520000 50\G HBAdD 52000 FING
3 o s o, g



Calcium chloride and calcium carbonate

) 5800 %ﬁ;‘:c_:nﬁ 585w sHof0 5*5’31355

Question Number : 147 Question Id : 4557344947 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Consider the following reactions

X(aq) ~ H,80, (dil) = Y. colourless gas with pungent smell

Y+MnO,+H,0 —> Z. colourless solution

Identify X and Y in the above reactions

Bob S8ged H88dohdn

X (o)t duo H,S0, - Y. 6orhdBd Hr88 add e aroind
.Y—M11{3;+H30 s 7. 8080 mrdm0

P S0gee” X Hodoin Yo fhiodod

Options:

1; 3052‘803

NO3.NO

L-2

S2HA

CI".HCI

I

Question Number : 148 Question 1d : 4557344948 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following reactions of Xenon compounds is not feasible?

b ]
= i,

e 8od SGgees® I8 oo 57¢?

Options:
| XeF;+SbE; — [SbE,|" [XeEs]”

3XeF;+6H,0 — 2Xe+Xe0; +12HF + =0,

e

"



, 2XeF,+2H,0 — 2Xe+4HF+0,

, XeFs+RbF — Rb[XeF |

Question Number : 149 Question Id : 4557344949 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

\ : 2- :
The number of unpaired electrons in [PI{CN ) 4] ion having square planar geometry

(At. No. of Pt=78) is

i

DSde SHEER rgdnd fe [PF{CN}J wOoSrd” &) 2000 JOERY Jopg

(Pt ®ng) H8S8r0 Howg = 78)

Options:
1. 0

Question Number : 150 Question Id : 4557344950 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following is the correct order of 1onic radii?

Bof ard3es® D6 wdirdd T T $8530E EB00?

Options:
j CeP<La <Pm 2 <Yb™3

5 ¥ < Pt laf <ife
Yb2 <PmB <CeP<La™

Pm™ <La®<Ce” <Yb™

I

Question Number : 151 Question Id : 4557344951 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Which of the following are biodegradable polymers?
a) PVC

b) PHBV

¢) Bakelite

d) Nylon2-Nylon6

§ob T0S* £S5 Foors)d FdHben JD?
a) PVC

b) PHBV

c) BEBS

d Fod2-Jor3 6

Options:

. a.b

b.c

[E%]

3 c.d

b.d

Question Number : 152 Question Id : 4557344952 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following does not exist as a zwitter 1on?

8o 37835 A6 26 woSram Sokds?

Options:
Glycine

N
o



D-glucose

D-5irga
4 o

Question Number : 153 Question 1d : 4557344953 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which detergent is used as a germicide?

Eoardgomr &H@riod &30 267

sl

Options:
Sodium lauryl sulphate

1 FAodo erbs ;‘:Eﬁ;ﬁ

il

)

Cetyltrimethyl ammonium bromide

286 |8 NP warmdcho EFb

Glyceryl palmitate

Sodium dodecyl benzene sulphonate

x, =1 5 ] o
REG a0 @‘EE@ gos. ﬁa‘?‘qﬁaﬁ

Question Number : 154 Question Id : 4557344954 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Consider the following reaction

Bl.

| Pl
CH; —CH, —CH—CH, —< 2 5 CH, —CH, —CH=CH, + CH, —CH=CH—CH,;
D iy
Which of the following statements are correct?
(a) I1isthe major product of the reaction
(b) II is the major product of the reaction

(c) Formation of I is in accordance with Saytzetf rule

(d) II is more stable because it 1s more substituted

(B0l Sl H03doTok

Br

| .
CH;-CH,-CH-CH; =2~ »CH, —CH, — CH=CH,+ CH; - CH=CH — CH,

D (ID

(c) Idd\yddy i D Hohido Hs do 28R
(d) 285 BEgHse Godd Sod II I8 S HEomr &okid

Options:
] & C

4 b.d

Question Number : 155 Question Id : 4557344955 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Which one of the following reactions will yield 2-propanol?

808 WEgee® 2 - | FATSH IHWSD AD?

@ CH,=CH-CH;+H,0—%

' DC,H:Mel
(b) CH0—LZoEs

' )CH;Mgl
(¢c) CH;-CHO miﬂ >

o i i) (BHs)» .
(d) CH,=CH-CH; en

Options:

1 a.b

b.c

k-2

Question Number : 156 Question Id : 4557344956 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The major product/s expected from the mononitration of 3-methyl phenol is

& o

3-085 Hord TS IJAS &arodd BorS adyb)o/en

Options:
OH OH
1 CH; CH;
OH OH
NO,
CH; CH;

NO,



OH OH
0,N

CH; CH;
NO,

OH

NO,

Question Number : 157 Question Id : 4557344957 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A mixture of benzaldehyde and acetophenone on heating with dilute NaOH solution gives

Boardrh S8k JVETHIT MFSr) S NaOH @rhzaod® J6 DHBSH K oDHothHsh
Options:
Benzophenone

Boa ngw

Benzalacetophenone
BorSIntI 0T

giod o

Phenyl benzoate

=

P25 @o 530043

Benzyl alcohol and sodium benzoate

y BoBS esen 555 B B0 BostdheS

Question Number : 158 Question Id : 4557344958 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Which of the followmg compounds give a yellow precipitate with iodine and aqueous NaOH
solution?

(a) 2-hydroxy propane
(b) Acetophenone

(c) Methyl acetate

(d) Acetanude

§0d ardies” @nAS HBoid NaOH zo@rsnod’ $:d) dorH =58505 I6)HHHBD 207
(a) 278 & os

(b) QDETHITD

(c) RS DL

(d) JHLIE

Options:

. a.b

b.c

-2

; ¢.d

Question Number : 159 Question Id : 4557344959 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What are A. B. C and D in the following reactions?
§od Sgees® A.B. CHbdoin D en Jdnds?

LiAtH, /(C,H;),0

CH;COOH >A

CH;COONa —F920 ,

CH;COOH—29%54 ¢

CH;COOH——2D

A B C D
Options:



CH;CHO CH;CH;4 (CH,CO),0 CH;COONH,

. CH,CH,OH CH, (CH,C0),0 CH,CONH,
CH,CH,0H CH,CH CH,C0),0 CH,CO

3 H3 H2 3 3 { 3 )S_’ 3 NHZ

, CH;CHO CH,;COCH, CH;OCH, CH,COONH,

Question Number : 160 Question Id : 4557344960 Question Type: MCQ Display Question Number : Yes Single Line Question

Option :

No Option Orientation : Vertical

Which of the following statements are correct?

a)  The basic strength of ethyl substituted amines in aqueous solution is, (C,H.);N >
(C,H;),NH = C,H:NH,

b) Aniline has five resonance structures but anilintum 1on has only two resonance
structures

c) Presence of OCH, group on ring increases the basic strength of aniline

d) Presence of —-NO, group on ring decreases the basic strength of aniline

§o& woFee® 3055 ID7?

a) aoErS0os’ 238 PEEhE ddde Fd were Edo, (CHL),N > (C,H,),NH >
C,H.NH,

b) JAVOIH o0t TEDI Doepsaren S0k, 50 DVOQ0HH wolrSE Dok 5E"3D)
Q070 G0

c) Soohown —OCH,;rd) w50y IO Frouoo DHHED

d) Sechon NO, iird) &HHvd VS §°6 we0 &M

Options:

, a,b,c

. b.c.d

; a.c.d

a.b.d



APEAMCET-2018

Agriculture & Medical Stream Preliminary Key
Date: 25-04-18 AN (Shift 2)

Q.No. | Answer Q.No. | Answer Q.No. | Answer Q.No. | Answer
1 3 41 1 81 2 121 2
2 2 42 3 82 3 122 2
3 4 43 2 83 2 123 1
4 4 44 2 84 2 124 3
S 1 45 4 85 3 125 3
9 1 46 4 86 1 126 2
7 4 47 2 87 4 127 3
8 4 48 3 88 1 128 4
9 2 49 3 89 3 129 1
10 1 50 3 90 4 130 3
11 4 S1 3 91 4 131 1
12 1 352 2 92 2 132 4
13 1 53 4 93 4 133 3
14 4 o4 4 94 1 134 3
15 2 55 1 95 1 135 4
16 1 56 2 96 4 136 1
17 4 S7 2 97 1 137 4
18 1 58 3 98 1 138 2
19 3 59 4 99 2 139 4

20 1 60 1 100 1 140 3
21 3 61 4 101 2 141 2
22 2 62 1 102 2 142 1
23 4 63 4 103 4 143 3
24 3 64 3 104 1 144 3
25 3 65 2 105 1 145 3
26 2 66 4 106 3 146 3
27 1 67 2 107 3 147 1
28 2 68 4 108 4 148 1
29 3 69 4 109 1 149 1
30 2 70 3 110 3 150 3
31 3 71 2 111 4 151 4
32 1 72 4 112 3 152 4
33 4 73 2 113 3 153 2
34 2 74 3 114 1 154 4
35 3 75 4 115 3 155 3
36 4 76 2 116 4 156 3
37 1 77 2 117 1 157 2
38 1 78 4 118 1 158 1
39 2 79 3 119 1 159 2
40 1 80 3 120 4 160 2




